RigSEEH

%E%%f%';%?ﬁ: fits £t HwERE

%ﬁ%'ﬁ%d)%#ﬁt)d)f—&bd) é‘H’CEU =

ERIZ KT HELDTIELEL,




2




2

))

1)




2




2

2
3
4
5 1. 000
6 1. 000
7 1. 000
8
9 1. 000
10
11
12 1. 000




1)

. 000

. 000

. 000

. 000

. 000

. 000

. 000




1)

1. 000

1. 000

1. 000

1. 000




1)

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000




1)

1. 000

1. 000

1. 000

1. 000




6)

1. 000

1. 000

1. 000

( ). © 66,

.50

14. 000

( ). ® 66,

.90

3. 000

( ), ® 66,

.50

14. 000

1. 000

14. 000

3. 000

14. 000

,3-10m

17. 000

1. 000

JIS A 1202

14. 000




6)

JI'S A 1203 14. 000
14. 000
JI S A 1205 14. 000
JI'S A 1205 14. 000
1. 000
3.0 1. 000 14
3.0 1. 000 15




3/

6)

1. 000

1. 000

1. 000

.100. 3

.0

1. 000

17




6)

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

12

. 000

13

. 000

. 000

. 000




5/

6)

.50

2.000

10

30°

, 50

1. 000

11




6/

6)

1. 000

1. 000

1. 000

3. 000

16




(

U 11

1.000

2.9t

:8.0

:0.0

:0.0

1
2)

;0.0

;0.0

3)
4)

(T

5.8

5)
6)

(YO

7
8)

9)
10)

11)
12)

14)
15)

4t

1. 000

(Dr

1. 000

5. 300

0.170

1. 000




(

2/ 11)

1.000

(

). ® 66,

.50

:8.0

:0.0

:0.0

1
2)

© 66

;0.0

;0.0

3)
5)

50

6)

© 66nm

50m

1. 000

1. 000

0. 080

0.170

0.170

1. 000

(

). @ 66,

. 50

:8.0

:0.0

:0.0

1)
2)

® 66

:0.0

:0.0

3)
5)

50




(3 11

6)
50m
@ 66m 1. 000
1. 000
0. 100
0. 200
0. 200
4
1. 000
:8.0 :0.0
( ). © 66, .50 . :0.0 :
1 ( ) :0.0 :0.0
2) © 66
3)
5) 50
6)
50m
@ 66m 1. 000
1. 000
0. 150




(

4

11)

0.290
0. 290
1.000 [ 1
:8.0 :0.0
:0.0 .
1) :0.0 :0.0
2)
1. 000
1.000 [ 1
0. 040
0. 080
0. 080
1.000 [ ]
:8.0 :0.0
:0.0 :
1) :0.0 :0.0

2)




(

5/

11)

. 000
1.000 [ ]
. 050
. 100
. 100
1. 000 [ 1
:8.0 :0.0
:0.0 .
1) :0.0 :0.0
2)
. 000
1. 000 [ 1

. 060

. 130

.130




(6

11)

8
1.000 [ ]
:8.0 :0.0
,@-10m :0.0 :
1) :0.0 :0.0
2)
3) Q- 10m
da- o 1. 000
1. 000 [ 1
0. 250
0. 500
0. 500
9
ton 1.000 ton
:8.0 ;0.0
( ), 100m 300m :0.0 :
1) ( :0.0 :0.0
2) 100m 300m
1.000| ton

1.000 ton




(

7/

11)

ton
0. 260
0.530
10
1. 000
:8.0 :0.0
.50 :0.0 :
1) :0.0 :0.0
2)
3) 50
1. 000
1. 000
1. 000
2. 000
11
1. 000
:8.0 :0.0
30° 45° .50 ;0.0 :




(

8/

11)

1) :0.0 :0.0
2) 30° 45°
3) 50
30 45 1. 000
1. 000
1. 000
2. 000
12
1. 000
:8.0 :0.0
:0.0 :
1) :0.0 :0.0
1. 000
1. 000
1. 000
1. 000

0. 500




(

9

11)

13
1. 000
:8.0 ;0.0
0 .3 0 :0.0 :
1) 0 :0.0 :0.0
2) 3
3) 0
0. 000
3. 000
0. 000
1. 000
0. 000
0. 000
14
( 1. 000
( :8.0 :0.0
3,0 :0.0 :
1) 3 ;0.0 :0.0
2 0




(

10/

11)

0. 880
1. 000
15
1. 000
:8.0 ;0.0
3,0 :0.0 :
1) :0.0 :0.0
2)
0. 880
1. 000
16
1. 000
:8.0 ;0.0
:0.0 :
1) :0.0 :0.0
1. 000

1. 000




(

1y 11

17
1. 000
:8.0 :0.0
1, ,100, 3 :0.0 :
1) ( 1. 000 :0.0 :0.0
2)
3) () 100
4) 3
5 MR () 0. 000
1. 000
3cnd 1. 000
( 0. 000

1. 000




1)

1. 000
1
4 4.5t 2.9 0. 700
1. 000
2
1. 000
( ). 100m 300m 3. 300 ton

1. 000




2




2

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000

1. 000




2

. 000

. 000

. 000

3.0

. 000

3.0

. 000

. 000

sssss

. 000

. 000




2

1. 000

1.000
1. 000
100km 100km 2.000
100km 100km 1. 000




5)

1. 000
:8.0 :0.0
3,0 :0.0 :
1) :0.0 :0.0
2)
0. 880
1. 000
1. 000
:8.0 :0.0
3.0 :0.0 :
1) :0.0 :0.0
2)
0. 880
1. 000

1. 000




5)

:8.0

:0.0

;0.0

:0.0

:0.0

0.500

0. 500

0. 000

1. 000

1. 000

:8.0

:0.0

;0.0

:0.0

:0.0

0. 000

0. 500




3/

5)

0. 500

1.000

1. 000

a2

100km 100K

:8.0

:0.0

;0.0

:0.0

:0.0

1)
2)

3)
4)

5)
6)

8)

9)
12)

13)
14)

15)
16)

17)
18)

N N

o0 oo o

19)
20)

100km 100km

1. 000




4

5)

5. 400

1.000

1. 000

a2

100km 100K

:8.0

:0.0

;0.0

:0.0

:0.0

1)
2)

3)
4)

5)
6)

8)

9)
12)

13)
14)

15)
16)

17)
18)

N N

o0 oo o

19)
20)

100km 100km

1. 000




5/

5)

5. 400

1. 000




&)t HEFHEE

) e e SHEF _
AEIEE RRFE =Ly No 4 ™ ™ Bt
it - Lk m 4.0 5.0 5.0 14.0
HeAR—1) o4 $66 (F—La7) B BEL m 1.0 1.0 1.0 3.0
MR Y T m 4.0 5.0 5.0 14.0
WL - DLk = 4 5 5 14
ZAEE AER - EL E] 1 1 1 3
MGREY L8 E] 4 5 5 14
IRI55 K ER r— ok E] 5 6 6 17
A R 0
5% 215 {EfiHh (30~45° ) HRT 1 1
KE El3il 1 1 2
. o HEA _
HERIEH RgE {1 No 4 ™ ™ Bt
THFOEERR JIS A 1202 e 4 5 5 1
N T DA KR JIS A 1203 ER o] 4 5 5 14
ENLRAER + O HiEHER JIS A 1204 = 4 5 5 14
T8 - HHERFREER JIS A 1205 B 4 5 5 14

KBIGHEKRERIE. 2mBLEE
XERNTEHRIL. FBEBIC1HHEEE




H R F Em K

faR=1:500

AR A & LETINR (&)1ith)

58

#)Ilits H26 Bor. No. 1-1

I H =89. 49m
dep=12. 00m

Bor No.5

#)Ilits H26 Bor. No. 2-1
H = 86.91m
dep= 11. 00m

Bor MNo.4

£t H26 Bor. No. 3-1

s

Bor No.6

| T
FREBE | ROSH ot It HEAETEE
BREE | 2K
ERABEN | ZHFEBRAH & LA
HE% FEE - HIE(5%5)
%R B ‘ HEES ‘
2%
FREE | BERRENLSRRER BWKESD (S8

fERE

‘ Mt




